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1 FERBOHES

M HED 40 OFEIERETIX Lang2 13 Calculus of Several Variables, Third
Edition, Springer-Verlag, 1991 %573

1.1 IIRD&TE

5% Fim 8.5, Lang2 IX.1, XIL.2 72 ¥

o TEIRNZAADERE - D AIRIHL F(x,y) HiE S OHMILAEDHIEL [[, F(z,y)dzdy
THEzohd

o FEIR D ICBWT LM 2 = Gz, y). Tl 2 = Fa,y) THEEALTIEOEEE
[, G(z,y) — F(z,y)dady THZ BN

o HhmmomE - [[, \/1+F$2(m,y)+Fy2(x,y)dxdy THEZ6h3

o BIFRAEIDMEME - 27 [ f(2)\/1+ f2(x)dz THABND

2 HMBOFRE

%% T. M. Apostol, A proof that Euler missed: evaluating ((2) the easy way,
Math. Intelligencer 5, 5960, https://doi.org/10.1007/BF03026576

e > 1/n*=72/6 - 1/(1 —xy) DILFEETNHKD B
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1) BRIR 22 + 42+ 22 <25 D5 B, 22 +y? < 16 LR 2 OEEERD K,
(25 52)

2) 2,9,2 > 0,30+2y+2 <6 I XoTHOHDLINZIEDEFEEZ KD K, (25 50)

3) z=/25—22 — 2 THOHLDLINLZHMAD, 2°+y? <9 LR IE7OHEE
kKed ko (25 K)

4) it y=1/3(1—2%),-1 <2 <1 %Z s #iOF O ICEESETHELN S
HAA OTEZ KD Ko (25 )
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